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Exponents and Scientific Notation Overview

1. A company’s profit of $
[image: image89.emf] will be shared equally by its 



 3,800 employees.


      How much money will each employee receive?                  
[image: image2.jpg]® ® 0 0






                






                


A. 
[image: image3.wmf]1

$4.510

´




B. 
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$4.510

´




C. 
[image: image5.wmf]3

$4.510

´




D. 
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$4.510

´



2. Which number is equivalent to 
[image: image7.wmf]1

5

-

 ?
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A.  
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B.  
[image: image10.wmf]1

5

-




C. 
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5

 



D.  
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3. Evaluate: 
[image: image13.wmf]-

32

(2)(3)

 bases are not the same!!!?
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A.  
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-




B.  
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1




C.  
[image: image17.wmf]8

9




D.  
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4. Solve the following expression: 
[image: image19.wmf]-

·

22

55

?
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A. 0


B. 1


C. 5


D.  
[image: image21.wmf]1

25



5. The distance between Earth and the Sun is approximately 


        150,000,000 kilometers.


       What is the distance in scientific notation?
[image: image22.jpg]® ® 0 0






A.  
[image: image23.wmf]6

1.510

´




B.  
[image: image24.wmf]7

1.510

´




C. 
[image: image25.wmf]8

1.510

´




D.  
[image: image26.wmf]9

1.510

´



6. Which statement is not correct? 
[image: image27.jpg]® ® 0 0






A.  
[image: image28.wmf]>´

5

3,500,0006.510




B.  
[image: image29.wmf]´<

3

4.7104,000




C.  
[image: image30.wmf]<´

0

0.982110




D.  
[image: image31.wmf]-

>´

4

0.0005410



7. A light year is approximately 5,880,000,000,000 miles.


       Which distance is the same as a light year?
[image: image32.jpg]® ® 0 0






A.  
[image: image33.wmf]´

13

5.8810 miles




B.  
[image: image34.wmf]´

12

5.8810 miles




C.  
[image: image35.wmf]´

11

5.8810 miles




D.  
[image: image36.wmf]´

10

5.8810 miles


8. Helen correctly calculated the product of
[image: image37.wmf]33

2.910 and 1.3410

-

´´

.  



She wrote each in standard form, multiplied both products, and rewrote 



her result in scientific notation. 


What is Helen’s product written in scientific notation?
[image: image38.jpg]® ® 0 0







A. 
[image: image39.wmf]9

3.88610

-

´





B.  
[image: image40.wmf]6

3.88610

-

´





C. 
[image: image41.wmf]0

3.88610

´





D. 
[image: image42.wmf]6

3.88610

´



9. What is the sum of
[image: image43.wmf]32

2.4510 and 1.1310

´´

?
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A. 
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3

2.56310





B.  
[image: image46.wmf]´

3

3.5810





C. 
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5

2.56310





D. 
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5

3.5810



10. What is 
[image: image49.wmf]5

8.3210

-

´

written in standard form?  
[image: image50.jpg]® ® 0 0







A. 
[image: image51.wmf]0.00000832





B. 
[image: image52.wmf]83,200,000





C. 
[image: image53.wmf]0.0000832





D. 
[image: image54.wmf]832,000





11.  A scientist measured some bacterial cells. The average diameter of 



the cells were 0.0000032 millimeters. 

       What is this measurement written in scientific notation?
[image: image55.jpg]® ® 0 0







A. 
[image: image56.wmf]7

3.210 millimeters

-

´





B. 
[image: image57.wmf]6

3.210 millimeters

-

´





C. 
[image: image58.wmf]7

3.210 millimeters

´





D. 
[image: image59.wmf]6

3.210 millimeters

´



12. Which shows the expression below in simplest form?
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-
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A. 
[image: image62.wmf]1

3.010

-

´





B. 
[image: image63.wmf]0

3.010

´





C. 
[image: image64.wmf]1

3.010

´





D. 
[image: image65.wmf]2

3.010

´


13. 
What is the value of 
[image: image66.wmf]012

222

++

?
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A. 
[image: image68.wmf]6

-





B. 
[image: image69.wmf]3

2





C. 
[image: image70.wmf]3

1

4





D. 
[image: image71.wmf]7


14. In 1998, The Balboa Movie Company spent 
[image: image72.wmf]4

$3.510

´

 to make one movie.

In 2000, the same company spent 
[image: image73.wmf]5

$4.5110

´

 to make one movie.

      
What is the difference in the cost of making these movies?[image: image74.jpg]® ® 0 0







A. 
[image: image75.wmf]´

5

$4.1610





B.  
[image: image76.wmf]´

3

$4.1610





C. 
[image: image77.wmf]´

3

$4.8610





D. 
[image: image78.wmf]´

5

$4.8610


15. A light-year is a unit of length that represents the distance that light 


travels in one year. One light-year = 
[image: image79.wmf]12

5.8810 miles

´

. Alpha Centauri 



is about 
[image: image80.wmf]0

4.310

´

light years from Earth.


Written in scientific notation, what is Alpha Centauri’s 



distance from Earth in miles?
[image: image81.jpg]® ® 0 0







A.  
[image: image82.wmf]13

25.28410 miles

´





B.  
[image: image83.wmf]12

25.28410 miles

´





C.  
[image: image84.wmf]14

0.2528410 miles

´





D.  
[image: image85.wmf]13

2.528410 miles

´


16. Identify which of the number below is greater. Explain your answer.

[image: image86.wmf]21

8.210 or 1.5410

--

´´


Show all of your work in the space below. (2 pts)

[image: image1.wmf]6

1.7110

´


17. What is a Power of Ten? Give an example with your definition.


Show all of your work in the space below.  (2 pts)

[image: image88]
18. An astronomical unit (AU) is the average distance between Earth and the sun. One AU is about 
[image: image87.wmf]7

9.310 miles

´

.
Explain how to write this distance in standard notation. Then write the distance in standard notation.  (2 pts)


19. The table below shows the number of bushels of three crops grown in Ohio for the years 1999, 2000, and 2001.
	Year
	1999
	2000
	2001

	Corn 
	253,500,000
	421,800,000
	199,500,000

	Soybeans
	77,600,000
	73,080,000
	63,900,000

	Wheat
	41,400,000
	36,000,000
	35,840,000




In the space below, identify the total number of bushels of the three crops produced in 2001. Express your answer in standard form and in scientific notation. The numbers in the table only show on increase in production over the three years. Identify the crop and the years when there was an increase in production. Write the amount of the increase in scientific notation.  Show all work.  (4 pts)
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